Grand Test : CHT1-171207

SSC CHSL GRAND TEST : 171207 - HINTS AND SOLUTIONS
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1.

2.

3.

ANSWER KEY
1 (1) 26 (3) 51 (4) 76 (1)
2 (2) 27 (3) 52 (4) 177 (3)
3 (1) 28 (2) 53 (2) 78 (1)
4 (3) 29 (3) 54 (3) 79 (2)
5 (3) 30 (4) 55 (2) 80 (1)
6 (4) 31 (2) 56 (1) 81 (1)
7 (4) 32 (4) 57 (4) 82 (4)
8 [(4)| 33| )] 58| ()] 83](2
9 ()| 34| @] 59 ] 4] 84| (3
10 | (2) | 35 | (1) | 60 | (4) | 85 | (1)
11 | (4) |36 | (3) |61 | (2)] 86 | (3
12 | () |37 @ |62 ]| @87 ]
13 | (1) | 38 | (4) | 63 | (3) | 88 | (1)
14 | (2) |39 | (3) |64 | (3|89 ] (3
15 | (3) | 40 | (2) [ 65 | (1) | 90 | (3)
16 | (4) | 41 | (3) |66 | (2) ] 91 | (2
17 | (2) | 42 | (4) | 67 | (1) | 92 | (3)
18 | (4) | 43 | (2|68 | (2 ]93] 3
19 (2) 44 (1) 69 (4) 94 (2)
20 (4) 45 (1) 70 (2) 95 (1)
21 (3) 46 (3) 71 (2) 96 (1)
22 (2) 47 (4) 72 (4) 97 (1)
23 (3) 48 (1) 73 (1) 98 (3)
24 (1) 49 (3) 74 (4) 99 (1)
25 (2) 50 (3) 75 (2) | 100 | (4)
1) As,

A B C XY Z DEFUVW

LA AL Y

+1 +1 +1 iS + +

Similarly,

DEFUVW J KLOPDOQ

LA =

+1 +1 +1 J:S * +

(2) As, 5 —> 28
() +3
Similarly, 8 — &
(8 +3

(1) As, Doctor works in Hospital. Similarly, Teacher works

in School.
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10.

11.

12.

14.

15.

)

3)

(4)
(4)

(4)

1)

@

(4)
(1)

(1)

()

)

As, every year International Literacy Day is celebrated
on September 8. Similarly, every year International
Women’s Day is celebrated on March 8.

As,

Z X Opposite letter
L]

[
Similarly,
Opposite letter
_—

A C
' 1

vV T E G
| | i) T
Only 64 is a square number.

Except Canada, all other are continent while Canada
is one of the country in North America continent.

Q R S : X Y Z

| Y T | I
+1 41 +1 41
S T U * M L N
| Y O N
+1 41 -1 +2
3+2+4+8|=17 [Odd number]

4+2+3+9=18
1+2+4+7=14 [Even number]
2+3+4+9=18 [Even number]
Words meaningful order are as follows :

[Even number]

Hut — House — Bungalow — Palace
) @ 3 @

From option (4),
mam/mam/mam =ammm

1 6 13 22 33 46
LN N N N 1

+5 +7 +9 +11 +13

LN N N 4
+2 +2 +2 +2
From option (1),

E F G H M N O P
I Y Y I |
+1 o+l +1 +1 o+l 41
Q R S T u v W X
N N Y I |
+1 o+l +1 +1 o+l 41

12 8 14 6 16 4
| T ¢ T
+2 I +2
-2 -2
According to the question, Varun is younger than

Sandeep by 50 weeks and 300 days or 650 days.

6—?0 =92 weeks + 6 days

.. Varun born day = Tuesday — 6 = Wednesday
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16. (4)

7. 2 21500
Ll
QAZTT

18. (4) As, (1+2+4+3)x5=50

19.

20.

21.
22.

23.

24.

()

(4)

(3)
()

)

(1)

and(3+4+5+2)x5=70
Similarly, (7+4+ 9+ 3) x 5=115.
Mr. Das’s walking directions are as follows,

D 4 km

C
2km
v E
44 km
4Km B 8 km
House ¢ > & < A

O<—12km‘—>

\ Required distance (OE)=OD-DE=4-2=2km
According tot he statements,

Hence, conclusion (4) is true.

From the answer figure (3), question figure is formed.

1,2 and 6 are in the triangle as definitely true.

[J—[]—| 000000

Hence, answer figure (1) is embedded in the question

figure.

A
25. (2)
DL9Q3574 — pT2zEQOIA

SSCCHSL : TIER-1

51. (4) The difference between circumference and diameter
of a circle = 150
= 2nr—2r =150 = 2r(n—-1) =150
= Zr(g— j =150=> Zr(Ej =150
7 7
(e 1507 _ 35 m
15%x2
52. (4) Letthe radius of a sphere be r. Volume of a sphere =
A
3
If the radius is doubled. Then,
4 4
Volume of sphere = ETE(ZY)3 = Eﬂfs x8
4 4 4
Increase in volume = — i x8——mr® = —nr’(8-1)
3 3 3
:7xinﬁ
3
.. Percentage of increase in volume
7xﬁnﬁ
=| —3 <100 |=700%
4 3
—r
3
53. (2) Let MP=Rs. 100
SP = [100—%><100j =Rs.75
cp = T5x 100 75x100 _ Rs.1500
(100 -15) 85 17
.. Ratio = 1500 = 20 =20:17
17x75 17
54. (3) Lettheage of P=xyr.
Ageof Q=yyrandageof R=zyr
Now X+ty+z ¢
3
=>X+y-22=15=x+y =39
On solving, we getz=12 yr
55. (2)
+2 +2 +2 +2
I Y Y Y
1 3 5 s 2
2 4 8 16 32
x2 x2 x2 x2

9
Hence, the next number of the sequence = %
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1
56. (1) Oneman’s 1 daywork = 38

1
One woman’s 1 day work = 176

1
One boy’s 1 day work = 264

(One man + One woman + One boy)’s 1 day work

1,11 6+sv2 1
88 176 264 528 528

So, one man, one woman and one boy can do a work

= 528 = 48 days
11

57. (4) Letthe sides of atriangle be 5x m, 6x mand 7x m

Perimeter of a triangle = 54
= 5X+6x+7x=54
=18x=54=x=3

.. Sides of a triangle are 15m, 18 mand 21 m

.. Area of atriangle
=J27(27-15)(27 -18)(27 - 21)

= J27x12x9x6 = /17496 =54/6 m?
58. (1) External angle of a polygon

= L +180° =i><180° =10°
1+17 18

360°

.. Number of sides of a polygon = 10°

59. (4) Letthe heightat which the tree is broken be | = BC

D

9 A

A

< X

A\ 4

andAC=h-1

Using Pythagorus theorem,

(h=D2=12+x?

= h? +1%2 -2hl = 1% + x?

h2 - x?
2h

=2hl=h?-x*=1=

m

60.

61.

62.

63.

(4)

()

1)

©)

RACK
SP of Deepa = Rs. 33000

For 1st stage i.e. Yogita to Shyamia,

100+20 _ 120
100 100

For lInd stage i.e. Shyamia to Deepa

100+10 _110
100 100

Change factor =

Change factor =

et chane factor = 120110 _ 132
etc ange actor = 100100 _ 100

33000x100
132
Let the total number of valid votes be x.
Since, losser gets 38%, then
Winner gets = 100 — 38 = 62%
.. 62% of x — 38% of x = 7200
62x 38x

= 222 207 _ 7200
100 100

.. CP for Yogita = = Rs.25000

24X _ 7200x100

=——=7200= X = 30000
100

60
Distance covered by a car at 60 km/h = 1° 60 km

60 3
. Time taken to cover 60 km at 40 km/h = 20 = 5 hr

Here, /A =,/B=60° and AC =13
We know that,

/7| 60° 60° 1N\
A

B
sum of three angles of a triangle = 180°
. ZC =180°-(60°+60°) = 60°

-~ AB=BC=AC=+13 cm

Since, AD and BD intersect at D with /D = 90°
So, in AADB, AB? = BD? + AD? = AD? = AB? - BD?

=AD?= (4/13)2 - (2)> = AD? =13-4
— AD?’=9= AD=3cm
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64. (3) T A
18c
®
SCTn
e
T 12cm
9cm l
B l C

AG :§><27:18 cm

GD=27-18=9cm,ND =12 cm
GN=ND-GD=12-9=3cm.

65. (1) Here, tan(A+B)=+/3 = tan(A+B) = tan 60°

. A+B=60° (i)
and tan(A-B) = =
V3
= tan(A - B) =tan30°
. A-B=30° (i)
On solving (i) and (ii), we get
ZA =45°

66. (2) sin@:%:sin@:sinSOO:e:soozg

) ¢_£_E_3n—n_£
T2 06 6 3
. LT 3
SsSiIneg=siNn—=—
¢ 3 2

1
67. (1) t2—4t+1=0:>t_4+¥:0

= t+%=4 ()
On squaring both sides,
t2 +i2+2 =16
t
1
2 ..
=t +t_2:14 (D)

1 1 1
O g ey [ | I |
t3 [ tj[ t? j

=4(14-1)=4x13=52

68.

69.

70.

()

(4)

SSCCHSL : TIER-1

Here, 3/a+3b =3/c

i1 1 .
— a3 +p3 =c3 ()
On cubing both sides,

11 1
(a3 +b3)° = (c?)’
1111

= a+b+3a3.b3(@3+hb3)=0

111
3n3p3 (from eqg. i)

= a+b-c=-3a3b3c3

Again on cubing both sides,

(a+b—c)® =—27abc

s (a+b-c)®*+27abc=0

Here, ~ACD =120° and
A

X

/2 120

ZABC = % Z/CAB

Now, /ACB+/ACD=180°  (Linear pair)
= /ACB+120° =180° = ZACB = 60°

1
Let ~.CAB be x. Then, ZABC=§X

In AABC,
By angle sum property,

120°x2

x+%x+60°:180°:%x:120°:x=

.. ZABC = 82

=40°

(2) Letthe height of a tower AB be hmand BC=xm

A

A

30° 60°

\ 4

<——70m > & X
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In AABC,
tan 60° = E
BC

h h
=3=—=x=— ()

X V3

Now, in AABD

tan 30° = ﬁ
BD

_L1__h
J3  x+70

= hy/3=x+70

h
=hy3=—+70 i
NE (Fromeq. i)

=3h=h+70/3=2h=70/3=h=35/3m
71. (2) Required ratio

__ Total expenditure on infrastructure and transport

Total expenditure on taxes and interest

204125 325 13

=————=——="=13:11
10+175 275 11

RACK
Given, expenditure on advertisement = Rs. 2.10 crore

Per cent difference between expenditure on transport
and taxes = 12.5-10 = 2.5%

.. Amount on difference on expenditure on transport
and taxes

_2.10x2.5
15

Total expenditure =20 + 125+ 15+ 10+ 5+ 20 +

17.5=100

.. Total amount =100 x 2.10 = Rs. 210

Expediture on research and development =5

and total amount on research and development

=5x2.10 =Rs. 10.50

According to the question, 210 = N x 10.50

210

1050 "
Here, interest on loan = Rs. 2.45 crore

Total amount of expenditure on advertisement, taxes
and research and development

_ (15+10+5)x2.45 30x2.45
- 175 - 175
Expenditure on the interest on loan = 17.5%
Expenditure on transport = 12.5%

.. Required percentage

_(175-125
j [ 12.5

=Rs. 0.35 crore = Rs. 35 lakh

= Rs.4.2 crore

x100 | = 500 =40%
12.5

aaaa



